4 L s 2 1

CLOPAY / IDEAL / HOLMES SHEET: [ REVISIONS
3717 /7 C7X17 v -- / 2764 1. 75" THICK MINOR RIR 1 OF 4
REV. NO.| ZONE: | DATE: [ ECN NO.[ APPVD: DESCRIPTION
3718 ~/ C7X18 / -- / 27GA 1. 75" THICK FLUSH
3720/ C7%20 / 240U 7/ 27GA 2" THICK MINDOR RIB oo | - [os/z016 - e L DENNEOE Y SR
3722 /7 cOxge s -- / 20GA 2* THICK FLUSH
BETTER) OR IMPACT RESISTANT GLAZING. MAXIMUM
GLAZING SIZE (DLO) IS 22"x9-7/8". SEE SECTION
B—B OM SHEET 2 FOR DETAILS.
EL}CHE‘C:N?&MGE“DL;-TESTE&L BACKER PLATE AT | GLAZING MAY BE INSTALLED IN TOP SECTION (NOT 16 GA. DOUBLE END STILE
HINGE LOCATION. SHOWN) OR INTERMEDIATE SECTION (SHOWN).
BACKER PLATE ATTACHED WITH DOUBLE SIDED
ACRYLIC ADHESIVE TO BACK OF DOOR. —== g
I
| —3" 20 GAGE U—-BARS. BARS ARRANGED —
: » = Al . IN A 1-D-1-0 PATTERN OVER THE
2 ' A 1 { HINGES ON EVERY SECTION AS SHOWN.
- : 5 = '
. TC P 1 # 3 & 1T —— TN view "
53 & ¢ & , & Vi V ———WVIEW "C"
w =
T (1) 4" T-STRUT PER SECTION. FOR
g . | | SECTIONS WHERE U—BARS ARE NOT
3% I i USED, T—-STRUT MAY BE MIDDLE OR
= &l TOP OF SECTION. FOR SECTIONS WITH
%, U—BARS, T—-STRUT TO BE AT BOTTOM
= L OF SECTION AS SHOWN.
k= \L{JCK POSITION {BOTH SIDES).
U—BAR.
1 R
e = T-STRUT. {—
T 5 M_ (2) LHR TOP BRACKETS USED AS INNER
MAX. DOOR WIDTH = 18'-2" BOTTOM BRACKET.
#14x5/8" SHEET METAL SCREWS INSIDE ELEVATIONS
vn. |NUMBER OF #14x5/8" SHEET METAL SCREWS
DOOR HEIGHT *ar 'R o
UP TO 8°-0° 4
B"-3* THRU 10°-0* 5
10°-3° THRU 12°-0~ 6
12'-3" THRU 14°-0° 7
14'-3" THRU 16*-0" a8 1‘.-"4"::3,"-'1-" SELF
16°~3" THRU 18'-0" 9 TAPPING SCREWS.
14 GA. END HINGES 14 GA. (MIN.}) INTERMEDIATE HINGE
VIEW "B" MEW "C”
SNAP LATCH ENGAGES i

ONTO VERTICAL TRACK.

; ONE SNAP LATCH ON STILE
_ 7 i, l\ Ty EACH SIDE OF DOOR. MANUFACTURING PRODUCT CODE
" r' END ENG o [0 DESIGN LOADS: +36.0 P.S.F. & —40.0 P.SF = T
s A et k 3 : +36. JaF. —40. D.F. :
s, .l STILE. JERTICHL Th Ak OUTSIDE TEST LOADS: +54.0 P.S.F. & —60.0 P.S.F. PART NO.: N/A
£ A { . ONE LOCK OM HAMDLE
1 e EACH SIDE OF  ouTsIDE . IEDCGASGESH Unless Stated Otherwise | (D [:I 8585 Duke Boulevord WINDLOAD RATING
@ " e R L ason,
. t/ PR S DOOR. KEYED EHD TRk O | TOERANCES o uum WIOPAY 10550 551550000 W6 DP36T
i j’( : ,/ N e HANDLE. STILE. EACH SIDE 0 = +.031 Bulding Producls Company Fox No. 513-770-4853
. e - OF DOOR {533 = :g;g DESCRIPTION: 1-3/4" INTELLICORE DOORS UP TO 18°2"W (SEE TABLE)
e L v INSIDE SLIDE _BOLT INSIDE HAMDLE ’ . = % : ; ;
DESIGN ENGINEER: - “- LOCK OPTION. QUTSIDE KEYED LOCK WITH OUTSIDE KEYED LOCK WITH 0000 = +.001 [DRAWN BY: SH DATE: 1/10/13 [SCALE: NTS DWG.
MARK WESTERFIELD, P.E. <~ SNAP LATCH LOCK OPTION LOCK BAR LOCKING. Degrees = *1/2 |CHECKED BY: SH DATE: 1/10/13 |SHEET 1 OF 4 [SIZE
LFE.. : 5 Otherwi
FLORIDA P.E. #48495 -NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS. AR 1N NCHES. | DWG. NO.: 104826 — A/B VER: T0I
4 | 3 -~ 2 1



4 3 v 2 1
CLOPAY ~ IDEAL / HOLMES SHEET: REVISIONS
3717 7 C7X17 7 =—- 7 27GA 1. 75 THICK MINDOR RIB 2 OF 4 , : : RIPTION
3718 /7 CIXiB / ~-- / 27GA 1. 75" THICK FLUSH <e¥. TO. CONE: | DATE: | FON NO.1 APPVD: DESCT ONE
3720 / C7X20 / 240U /7 27GA 2° THICK MINOR RIB o | - = - = | SEECREVEIN HITR Ol SHECT DNE;
3722 / COX22 / -- ¢ 2068 2 THICK FLUSH
3724 A C7Xed 7 244U / 240A 27 THICK MINWNOR RIEB

IMPACT—RESISTANT CONSTRUCTION: STANDARDNASSEMBLY CONSTRUCTION:

SOLID DOORS (NO GLAZING) OR DOORS WITH OPTIONAL IMPACT—RESISTANT GLAZING ARE
IMPACT—RESISTANT. OPTIONAL IMPACT RESISTANT ASSEMBLY CONSISTS OF ALUMINUM
FRONT FRAME AND SABIC IP LEXAN 9034 (VERSIONS ALSO APPROVED: MR10, 9030,
90318, 90316, 90317, 90311, 90314, 90355) OR BAYER MAKROLON GP (VERSIONS
ALSO APPROVED: SL, AR, 15), APPROVED CC1 PLASTICS IN ACCORDAMCE WITH IBC/FBC
2606 AND APPROVED C1 PLASTICS IN ACCORDAMCE WITH FBC 2612,

THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIAMCE WITH THIS SECTION MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE AMD INTERMATIONAL BUILDING
CODE AND IS LARGE— AMD SMALL—MISSILE IMPACT RESISTANT,

OPTIONAL DSB

THE ENTIRE DOOR
WIND LOAD REQUIR
CODE BUT DOES MOT
REGIONS (REF. CHAPTE

TEMPERED INSULATED GLAZING AVAILABLE.

MEETS THE
ONAL BUILDING
INDBORNE DEBRIS

SEMBLY INSTALLED IN COMPLIAMCE WITH THIS SECT,
TS OF THE FLORIDA BUILDING CODE OR INTER
ET THE IMPACT RESISTANT REQUIREMENT F

& FBC/1BC).

SECTION B—B (NO

IMPACT—RESIST, GLAZING OPTION)

SECTION B—B (IMPACT—RESISTANT GLAZING OPTION)

INSULATED DOOR SECTIONM.

DECORATIVE FACADE.\

1 -1 "
EXTERIOR OF DOOR. (10) #8-18 x 1/2

SELF—TAPPING SCREWS.
INTERIOR OF DOOR,

RETAINER.

{12) ¥8-18 = 1,/2" ALUMINUM FRAME,

PANEL
THICKMESS PAN HEAD
Y SCREW
INSULATED GL
THIC s
———
SIDE
FRAME INSIDE
FRAME

B SELF—TAPPING SCREWS.
1/4" THICK POLYCARBONATE
GLAZING.,
IMPACT—RESISTANT ASSEMBLY DETAILS STANDARD ASSEMBLY DETAILS
DRAWING 104826-A DRAWING 104826-B
MANUFACTURING PRODUCT CODE
C-DSIU-1D477
DESIGN LOADS: +36.0 P.SF. & —40.0 P.SFF. 4
A TEST LOADS: +54.0 P.S.F. & —60.0 P.S.F. PART NO.: N/A
Unless Stated Otherwise | [l u'npa! 5-85 ﬂaﬁquuoflluwﬁsrﬁd. WINDLOAD RATING
TOLERANCES ore |y Tel. No. 513-770-4800
0 = +.031 |Bulding Products Compony Fax No. 513-770-4853 W 6 D P 3 6 T
00 = +.015 |DESCRIPTION: 1-3/4" INTELLICORE DOORS UP TO 18'2"W (SEE TABLE)
B S ,(5333; i;gg? DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS DWG.
DESIGN ENGINEER: ... (7" Degrees = +1/2  [CHECKED BY: SH DATE: 1/10/13 |SHEET 2 OF 4 |SIZE
MARK WESTERFIELD, PIED AL Olherwise 7=
lFLOR|DA F.E. #48495, MC P.E. #23832, TEXAS P.E. #91513 gmﬁ?srgﬁéeiﬂl:“]; Inches. [DWG. NO.: 104826 — ASB VER: TDI

4



4 3 s 2 1

CLOPAY » IDEAL ~ HOLMES SHEET: REVISIONS
3717/ C?X17 /7 -- / 27GA 1. 75" THICK MINOR RIB 3 OF 4
: REV. NO. : ] 3 g IPTION
3718 7 C7X18 / --  / 27GA 1. 75 THICK FLUSH Ev i EOMES], DO joaeh HOGloRERD DESBHIED
3720 s/ C7X20 s 240U /7 27GA 2* THICK MINOR RIB o1 = = - = SEE REVISION HISTORY ON SHEET ONE.
37ee / COxee » -—- s 206GA 2" THICK FLUSH
3724 S C7X24 7 244U A 24048 2° THICK MINOR RIE . r1 3/4" THICK MIN
27 GA. (016" MIN.) EXTERIOR STEEL
B {:%RES:JSNERESPSG%?B JAMB TQ SUPPORTING STRUCTURE ATTACHMENT SHIN. WITH G40 M, ALY BAKED-OH
= ) ] NOTES: POLYESTER PAINTED TOP COAT APPLIED
T 1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE TRACK AMD THEM FROM THE TRACK TO TO BOTH SIDES OF STEEL SKIM.
; 3 THE 2x6 VERTICAL SYP (GRADE §2 OR BETTER) JAMBS. NO LOAD FROM THE DOOR IS
) TRANSFERRED TO THE HORIZONTAL (TOP) JAME.
2. ESE‘; ggnncaé JAMB SEES A MAXIMUM DESIGN LOAD OF +324 LB & -360 LB. PER LINEAR
JAMB.
3. ALL JAMB FASTEMERS MAY BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A
/‘ FASTENER FLUSH MOUNTING SURFACE. { ) 12 GA. GALY. STEEL TOP ROLLER ERI*\CKET. EACH
TYPE 4. A 1/3 STRESS INCREASE FOR WIND LOAD WAS NOT USED IN THE CALCULATION OF ALLOWABLE BRACKET ATTACHED W/(5) #14x5/8" SHEET METAL
/| LOADS FOR ANCHORS AND FASTEMERS FOR STEEL, CONCRETE AND MASONRY, SCREWS. ADJUSTABLE SLIDE ATTACHED TO TOP
| BRACKET WITH (2) 1/4"x1/2" BOLTS AND NUTS PER
—|-v’\-— BRACKET.
MAX. O.C, NOTE: 2x6 WOOD JAMBS ARE NOT REQUIRED WITH CONTINUCUS ANGLE MOUNT TRACK. HOWEVER, Y o
IF DESIRED ON STEEL JAMBS OR CONCRETE OR BLOCK WALLS, APPROVED FASTENERS AS SECTIONS ARE 1-3/4" THICK (MIN.) PANELS.
DETAILED BELOW SHOULD BE INCREASED IN LENGTH BY 1-1,/2" AND INSTALLED DIRECTLY VIEW "D" EXTERIOR 27 GA. MIN. GALV. STEEL INTERIOR 27 GA.
. THROUGH THE AMGLE AND 2x6 WOOD JAMBS INTO THE STEEL JAMBS OR CONCRETE OR BLOCK 4" TALL TAPER STRUT. MIN. GALV. STEEL. THE STUCCO EMBOSSED STEEL
WALLS. ANCHORS CAN BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUMK TO PROVIDE A FLUSH 0.062" MIN. GALV. STEEL TEXTURE IS PREPAINTED WITH A BAKED POLYESTER
MOUNTING SURFACE. CONTINUOQUS ANGLE TRACK CAN BE ANCHORED DIRECTLY TQ GROUT ab KSI MIN' : . PAINT. MINOR RIBS ARE PLACED EVERY 4 INCHES
/— 2x6 VERTICAL JAME REINFORCED BLOCK WALL OR 3,000 PSI MIN. CONCRETE COLUMMN QR STEEL JAMEBS. 2 ALOMNG THE WIDTH QF THE EXTERIOR PAMELS.
/ _\\ TONGUE AMD GROOVE JOINTS.
~ 3 VIEW "E”
‘ . Ao 3" TALL 50 KS| U—BAR 14 GA. GALV. ROLLER HINGE. EACH HINGE FASTENED
1-7/8 20 GA. GALV. STEEL TO END STILES W/(4) #14x5/8" SHEET METAL AND
I : . (2} 1/4"x3/4" SELF TAPPING SCREWS. (SEE WIEW "B")
T (1} 3" x 20GA. STEEL U—BARS AT THE TOP OF ‘
— EVERY OTHER SECTION. ATTACHED WITH (2)
1/4"%3/4" SELF-TAPPING SCREWS PER HINGE
LOCATION, (SEE WIEW "E™)
ONE 4" T-STRUT PER SECTION. (SEE VIEW "D7)
EACH T-STRUT ATTACHED AT EACH HINGE LOCATION
WITH {2) 1/4"x3/4" SELF TAPPING SCREWS.
27 GA. (.018" MIN.}) EXTERIOR STEEL
SKIN WITH G-40 MIN, GALV., BAKED-OM
- POLYESTER PAINTED TOP COAT APPLIED
& TO BOTH SIDES OF STEEL SKIN.
i

12 GA. GALV. STEEL BOTTOM BRACKET.
ATTACHED WITH (4) #14x5/8" SHEET METAL SCREWS,

FASTEMER ATTACHMENT TO SUPPORTING STRUCTURE SCHEDULES
ALUMINUM EXTRUSION & VINYL WEATHERSTRIP.

MAXIMUM
DN—CENTER
DISTANCE  |STEEL SECTION A—-A (SIDE VIEW)
BETWEEN _|WASHERS
BUILDING TYPE FASTENER TYPE FASTENERS*|REQUIRED?
E!%LQI_WFBLDCK WALL 1::4" x 1—1§4" MIN. EMBED ULTRACOMN CONCRETE ANCHOR 5" ~ 17 0.0.
U ILLED BLOCK WALL [1/4" x 1-3/4" MIN. EMBED ULTRACON CONCRETE ANCHOR 8-1,2" 1" D.D.
-|2000 PSI MIN. CONCRETE | 1/4 = 1" MIN. EMBED ULTRACON CONCRETE ANCHOR 7-1/4" 1" 0.0, MAHBERE TR EROTUCT - LATE
2000_PSI_MIN. CONCRETE [ 174" « 1" MIN. EMBED TAPCON CONCRETE ANCHOR B-1/4" 1" 0.0, C-DSIU-1D477
, {2000 PSI MIN. CONCRETE [3/8" x 1-3/4" MIN. EMBED WEJ-IT ANKR TNE SLEEVE ANCHOR 15-1/2" | INCLUDED DESIGN LOADS: +36.0 P.S.F. & —40.0 P.S.F. -
- , 4000 PSI MIN, CONCRETE |3/8" x 1-3/4" MIN, EMBED WEJ—IT ANKR TITE SLEEVE ANCHOR 24" INCLUDED |  TEST LDADS: +54.0 P.S.F. & —60.0 P.S.F. PART NO.: N/A
- ZIW0O0D FRAME (SYP 0.55 SGI1/2" x 3" LAG SCREW {ASTM A307, GRADE A) 1-5/8" EMBED INTQ STRUCTURE 16-3/4" [1~ OD. Unless Stoted Othermi 8585 Duke Boulevord RATING
-[14GA STEEL (D.0B0" MIN) |1/4°—14 x 1" [TW BUILDEX TEKS SELF—DRILLING FASTENER i 0.0, THESER;IENCESM | — [:lnpay Mason, OF 45040 USA i 1
s _ -[12GA STEEL (01057 MIN.) | 1/4"—14 x 1~ TW BUILDEX TEKS SELF-DRILLING FASTENER 12-1/a~_|1"0D. ore | Tel No. 513-770-4800 |\, / 6 D P 3 6 T
‘e = 1/8" sTeEL [1/74"-14 x 1" MW BUILDEX TEKS SELF-DRILLING FASTENER 14-3/4~ [1" 0.D. 0 = +.031 |Buiiog Producls Lompony  Fax No. 513-770-4853
@ < * FIRST {BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM ON—CENTER DISTAMCE. HIGHEST ANCHOR INSTALLED {;gg = :-gag DESCRIPTION:  1-3/4" INTELLICORE DOORS UP TO 18'2"W (SEE TABLE)
> r AT LEAST AS HIGH AS THE DOOR OPENING, . = 3 = ;
DESIGN ENGINEER: .0 ~~  CLOPAY DOES NOT SUPPLY JAMB ATTACHMENT FASTENERS. 0000 = +.001 |DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS DWG.
e WESTERFrELDﬁ"E.EI T MINIMUM DISTANCE BETWEEN CENTER OF ANCHOR AND EDGE OF COMCRETE BLOCK: 2—1/2" EXCLUDING STUCCO THICKMESS. Degrees = 21/ CHECKED BY: SH DATE: 1,/10/13 |SHEET 3 OF 4 |SIZE
i f Unless Staled Olherwise
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE N INCHES.{ DWG. NO.: 104826 — A/B VER: TDI

4 | g A 2 | 1



4 3 + 4 1

CLOPaY » IDEAL / HOLMES SHEET: REVISIONS
3717/ C7X17 5 -- /s 27G6a 1. ?5: THICK MINDRE RIB 4 OF 4 rev. NO.| ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
3718 S CIX1e /  -- S e76A 1. 75" THICK FLUSH v = N — BT TSN ETORE Set SHEET GNE
3720 S C7Xe0 / 240U A 276A 2* THICK MINOR RIB = :
372e £ COxee » -- A 2004 27 THICK FLUSH
3724 S C7X24 7 244U S 2408 2* THICK MINOR RIB
2" TRACK CONFIGURATION ST T
DOORS UP TQ 800 LBS. SUPPORT BY DOOR
; INSTALLER (TO SUIT). e
NOTE DOUBLE TRACK DOOR COUNTERBALANCE SYSTEM Fo JAMB COMFIGURATION , ANGLE MOUNT JAMB CONFIGURATION
HEIGHT | "L
HEADROOM, HI-LIFT TRACK, - - - | —— = DOCRS UP TO 800 LBS.
FOLLOW-THE- ROOF E-61 70 2x6 SYP JAMB (IF PRESENT;
TRACK, AND VERTICAL LIFT 13 GA GALV. STEEL FLAG BRACKET ATTACHED TO 7-0"] 76" BRACKET MOUNT JAMB CONFIGURATION SEE JAMB NOTES ON SHEET 3).
TRACK ARE AVAILABLE JAME WITH I:J} 5;"15 X 1"5{'5 LAG SCREWS 7'=6"| B2" 1" DOOR OVERLAP I:EN:H SIDE}——
OPTIONS, AND TO TRACK WITH (2) 1/4" RIVETS. &_0"| 88" TSR
lg""of}é Eg;‘f{'%[’}ﬂfgﬂpﬂmws = 8 -6"] 94" 2x6 SYP w%%o B.JAMCEI. BY INSTALLER (10 SUIT). ONE 5/16" x 1-5/8" LAG
o . 9'-0"1100" REQUIRED FOR BRACKET i, 16 GA GALV. STEEL DOUBLE—END-STILE cw SPACED AT THE SAME —
WD L e THE o Dl RN MIS A D 961106 MOUNT. m FASTENED WITH (1) #8 X 1/2" WAFER SCREW. [f o< s, Ll s T
- g }g'_g“ Hé I y (LE. 3-1/2" 10", AND EVERY
8 ] 28 12"). ALSO TWO LAG SCREWS
8 2" GALV. STEEL TRACK, 117 -0"]124" 2-1/2" ¥ 12 GA GALV. STEEL LOCATED ABOVE VERTICAL —
/ TRACK THICKNESS: 0.083". AR
i ! 11 -6 1130 TRACK BRACKETS FASTENED TO HORIZONTAL TRACK JUNCTION.
£ }%-ZE-- :ig- 1_;‘“,'?;’1” Lf;;"‘iﬁ;;ﬁﬁg 3‘;? T; ;ﬂéfl S ROLND 14 GA. GALV, STEEL CENTER HINGE
(G T ™ "
oo VERTICAL TRACK TO BE BRACKET 13-0"148" EXCEED 14" ON-CENTER, FASTENER. iy E?_'EEECEE;LWQ&:'EECH
MOUNT OR CONTINUOUS ANGLE 13 —6"[154 #14x5/ . )
g (1-3/4"2-1/4"12 GA MIN.) 14 —0"[160" 14 GA. GALV. STEEL ROLLER HINGES FASTEMED TO END STILES W/(4) EACH #14x5/8
z MOUNT. ALL BRACKETS/TRACK 14 -6 166" SHEET METAL SCREWS AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
g CLIPS ARE 12 GA. GALV. STEEL. 15-0"N72 2" GALV. STEEL TRACK FASTEMED TO
BRACKETS/CLIPS ARE ATTACHED 15'-6"178" 12 GA GALV STEEL TRACK BRACKETS . .
TO TRACK WITH EITHER TWO 1/4" 15:—[}“ 184" WITH EITHER {2) 1/4" DIA. RIVETS OR 2" DIA. 7=1/2" LONG STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE.
RWVETS OR ONE 1/4" BOLT AND 16 —6"1190" (1) 1/4" x 5/8" BOLT & MUT PER SECTION C—C
AT E-ZE» ;33-- WEE R LHR BRACKET (2-1/2" x 5-3/4" x 12GA}
; 18'-0"[208" PREPARATION OF JAMBS BY QTHERS, ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING
SCREWS. NOTE THAT LHR BRACKETS ARE ALSO
USED WITH "DOUBLE END STILE™ AS SHOWN IN (.
ZONE B-2 SHEET 1.
5 o
3" TRACK CONFIGURATION T —_— -
CUORS 809 .55 AND OVER DOORS 800 LBS AND OVER w_HEADROOM _OPTION
CENTER HANG REQUIRED FOR R e S S SEEs (AVAIL. FOR BOTH 2" AND 3™ TRACK)
NOTE DOUBLE TRACK DOORS OVER 8' HIGH,
HEADROOM, Hi-LIFT TRACK, ‘ l DOUBLE HORIZONTAL
TRACK, AND VERTIGAL LIFT 1" DOOR OVERLAP (EACH SIDE) —| |— HEh:
gﬁ%msh i 246 SYP JAMB (IF PRESENT: OPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SUIT).
TRACK COMFIGURATION 3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK SEE JAMB NOTES ON SHEET 3). 16 GA GALV. STEEL DOUBLE-END-STILE FASTENED
ABOVE THE DOOR OPENING THICKNESS: 0.101% ANGLE THICKNESS: 0.080" HORIZONTAL TRACK WITH (1) §8 X 1/2° WAFER SCREW.
DOES MNOT AFFECT THE MIN. AMGLE DIMEMSIONS 3—1/4" x 2-7/8", SUF;POLF;TEB’:'_ Dgﬂﬁ; i :
] INSTA IT}.
WIND: LOAD' RATING. VERTICAL /HORIZONTAL TRACK 14" MAXIMUM SPACING SAALEER A TOCSUNE 3-1/4" x 2-7/8" MIN. x 0.080" TAPERED ?
= JUBCHN, e 4B ittt ol o L ANGLE. SEE LAG BOLT MOUNTING AT TRACK | 14 GA. GALV. STEEL CENTER HINGE
8 - BRSO R, CONFIGURATION BELOW. 7/16" 1.D. ROUND FASTENED TO SECTION W/(4) EACH
T PUSH NUT #14x5/8" SHEET METAL SCREWS.
= ) ADDITIONAL MOUNTING SLOTS FASTENER.
S 1 SPACED" AT-12™ CENTERS. 0.101" THICK 3" GALV. STEEL TRACK FASTENED 14 GA. GALV., STEEL ROLLER HINGES FASTENED TO END
i TO TAPERED ANGLE. TRACK ATTACHED TO STILES W/(4) EACH #14x5/8" SHEET METAL SCREWS
& 12" ON CENTER TAPERED ANGLE WITH OME 1/47x5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
5 . MUT AT EACH MOUNTING SLOT.
b “ 3" D 8-1/2" LONG STEM BALL BEARING STEEL ROLLER.
g TIOM MANUFACTURING PRODUCT CODE
iWE 34" JTONE. K" TRACK BOLT AND NUT AT EACH Y PREPARATION OF JAMBS BY OTHERS. C-DSIU-1D477
‘o i MCANITING. -SLOT" LOLAIR0, DESIGN LOADS: +36.0 P.SF. & —40.0 P.SF. Tl
e DOOR | VERTICAL TEST LOADS: +54.0 PSF. & —-60.0 PSF. -
: & HEIGHT |TRACK LEMNGTH Unless Stoted Mherwise - nl 8385 Duke Boulevord WINDLOAD RATING
: 22 O Mo 45040 USA
: 7-0 177 =g, TOLERANCES ore opay 5 5 an wW6e DP3 5T
2012 e &Jll:ﬁnq Producls Compuny . Fox No. 513-770-4853 |
- o G OME 5/16" x 1-5/8" LAG SCREW SPACED AT THE SAME 00 = £.015 : = . 18'2"W (SEE TABLE)
= ] IPTION:  1-3/4" INTELLICORE DOORS UP TO {
3 b 13-3 133-- DISTANCES AS THE TRACK BOLTS (LE. 3-1/2", 107, 227, 34", 000 = +.005 DESCRIPTIO / : : T
! S ER . 14"=07 156" 46", ETC.). ADDITIOMAL LAG SCREWS LOCATED AT 16", 28", & 0000 = +.001 DRAWN BY: SH DATE: 1,/10/13 | SCALE: DWG.
DESIGN\&E!GINEEE - el 16 —07] 180" 40" FROM BOTTOM. TWO LAG SCREWS ALSO LOCATED ABOVE Degrees = +1/2° [CHECKED BY: SH CATE: 1/10/13 |SHEET 4 OF 4 [SIZE
MARK WESTERFIELD, PIE. RERRE SR R0 B i VERTICAL/HORIZONTAL TRACK JUNCTION. Unless Stoted Otherwise | 104826 — AYB VER. oI
FLORIDA P.E. #48495 NC P.E. #23832, TEXAS P.E. §91513 DIMENSIONS ARE IN INCHES. . NO.: -



